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A plate is supported and loaded
with distributed force p as
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Exact (or analytical) solutions for simple
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2 2 4
Gy t+0 Oy — O 2
gy = x2 L (xz y) ‘|‘732Cy_0'm1n

Principal angle:

tan 20, =




Principal stresses: N
, 1/2 Sla 5T dnlons
Ox T 0y Gy — 0y 2 .
o1 ="> T {( 5 ) + 75 p 93 Ol ys Lo
1/2
995 + (—1.2) 995 — (—1.2)\° K
g| = -+ —+ (—2.4)
2 2
g1 =497 + 498 = 995 psi
—1.2 .
02:995+( )—498:—1.1 psi
Principal angle:
| 1 2(—-2.4) §
2 995 — (—1.2)
RaSila -ladal [N nlSuila 53 S————

1SS s



~_

el 4 S 13 Al hes S Ll ja a8 L5 oSG Y s

o= e Ol

fa




